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SOLUTIONS
Question 1
a ,( ) _ (B+x)x2-2xx1 6
- ) = (3+x)2 T (34x)2
2 marks
b. g'(x) =2(1 —xH)! x —4x3 = —8x3(1 — x*%)
g'(1)=0
2 marks
Question 2
a. Z—z = cos(x) — xsin(x)
2 marks
b. fon(xsin(x) + Ddx = fon (cos(x) —y + 1) dx = [sin(x) — xcos(x) + x|
(sin(m) — mcos(m) + m) — 0 = 27
2 marks
Question 3
a f(x)=2(x+2—-2x2—4x+x3+2x)=2(x3-3x+2)=2x3—-6x+4
1 mark
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b.
<l L | I I T
TN ) T T 1] + —
4
-10
For stationary points f'(x) = 0 givesx = —1and 1
1 mark for axis intercepts, 1 mark for stationary points and 1 mark for end points
Question 4
_X_g—e\/zgia\lzgiﬂ\/E224—>n21152
7 9 72 n 24 2
n = 1152
2 marks
Question 5
a
T4
1 mark
3 3 3 27
b XX
2 marks
4 4 4 4 4 4 4 16 64 64 64 64
2 marks
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Question 6
a. 1, —1, 0
2
1 mark
b. sin(9)=1—>9=§
sin(9) = —% — no solution in the domain
sin(0)=0-6=0, 7w
0=0, g, T
3 marks
Question 7
a. (—oo,In(2)]
1 mark
b.
i. Range of g must be a subset of Domain of f
Range of g: (0,v3 — b), Domain of f: (0, 1]
V3i—-b=1-b=2
2 marks
ii. f(g(x)) = f(V3=x) =log.(2v3 —x)
1 mark
Question 8
1
a. Pr(B|A) = ? =—
1 mark
o am _ Pr(B'na’) _ 1-pPrauB) _ 1-(pt3—) _ 2
b. Pr(5"|4") = Pr(4’) = 1-Pr(4) 1-p T 1-p
2 marks
lp 1 s 2
5 -5 =1—- ==
C. 15 =3;73 2p=1-p-op=3
1 mark
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Question 9
10 1 2 2 3 2 1N\l 5, 16
a. Area= [ (xZ—xZ) dx—(ng—HxZ)O—g—E—g
2 marks
1 7 z 4 4
)y =1y2_2,7 =L % _ 1 9% _ 179
b.f(x)—zxz 2% T 0T 2 T 2k 2k 2vx
1 mark
C.
1-9x* o _
= 4o 1-9xt= 8vx
x = 1 satisfies the above equation
2 marks
. y=—-4x+c
Substitute (1,0) to getc =4
Equation of tangentis y = —4x + 4
2 marks
d y=2(—4x+4)+1or y=-8x+9
2 marks
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